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SN BATHY
Hm: Y BAIM 2
ool BA™M e Ysgt (e @
_ - HEE =
SA - H L SR(SH) - HRAMY - BS 0 & 24 e HRE2
= 50,400
= 21,600
VIR PEES 72,000 42,850 29, 150
OME&#YNST2IY X 72,000
= 50,400
= 21,600
NS HE =M 1,394,300 3,112,500 A1,718,200
= 1,065,000
= 329,300
lsHs =M 5% 7 1,394,300 3,112,500 A1,718,200
= 1,065,000
= 329,300
IS HEHH =X 1,344,300 1,167,000 177,300
= 1,065,000
= 279,300
201 Lur2 | 10,000 0 10,000
01 ALR eIt 10,000 0 10,000
01026000 ASIX ol &% 10,000
307 212H0| & 83,000 58,000 30,000
=2 34,000
= 54,000
VIR PEES 83,000 58,000 30,000
OJRAEE YET 29 68,000
= 34,000
= 34,000
OJlzEsNSI2 Y 29 X2 20,000
308 X+XI €I S 01 & 746,300 694,000 52,300
= 631,000
= 115,300
NP L EREES 746,300 694,000 52,300
OJRAEE YEHT 2IN 144,300
= 111,000
= 33,300
OJIZESHS S HE 28 X 100,000
= 100,000
OBFATOIEHE Alg 130,000
=2 100,000
= 30,000
O BB A AKX 2 150,000
= 150,000
0222 MEAGBE BAEZ 30,000
= 30,000
OBEANHK 24712 QAHMEE 80,000
= 40,000
= 40,000
OXES JI5Ws DS NN 12,000
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SN 3 EH L
2 NHEE BS
Ce NoEE BS crel & 9l
5 - PIIEL=
2N -3 - c2(3H) - NEME - HES AFoH bﬂ/‘\_FOH Hns
= 86,000
& 43,000
01 AXIEMAEEE 129,000 146,900 A 17,900
OO0t =Z LIHUEAIE &X 129,000
= 86,000
& 43,000
AASEEH0IEANE X K& 2,084,000 4,511,000 A2,427,000
= 1,603,000
== 481,000
403 ARSI S X201 & 2,084,000 4,511,000 A2,427,000
= 1,603,000
& 481,000
01 IXIEMAEEE 2,084,000 4,511,000 A2,427,000
OOMAMESRHAMEISA =4 624,000
= 480,000
== 144,000
OY RS MTGAME SR X4 910,000
= 700,000
= 210,000
O¢JID=MEISs& =4 550,000
= 423,000
T 127,000
=& MEUERD MHEYZ =4 200,000 500,000 A 300,000
= 200,000
403 XAtXI S S K20 ™ 200,000 500,000 A 300,000
= 200,000
01 AXIEMAEEE 200,000 500,000 300,000
O=)tdEEd s Xy 200,000
= 200,000
OFMESZE 2X2eMdAH 2= 443,000 318,183 124,817
= 133,000
& 310,000
307 212t01 A 443,000 318,183 124,817
= 133,000
& 310,000
02 A2tFAMNEX 443,000 318,183 124,817
Os3dYL s dH 29 443,000
= 133,000
== 310,000
OFMESZESAIY K& 49,600 32,133 17,467
308 K XIEHXHI S 01 ™ 49,600 17,133 32,467
01 AXSHNBAEEZ 49,600 17,133 32,467
O0tMsZE 253 Xl 66,000,000 *20% 13,200
OR4 OtMsSE &Z 2,000,000 x16 Al = *20% 6,400
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ool e B (H:H2)
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
O0d== =s&2 IdEa=a K&
150,000, 000& *20% 30,000
SENHASE AL 100,000 67,000 33,000
308 AHXIEHHI S 01 ™ 100,000 0 100,000
01 XA EEZ 100,000 0 100,000
OMEXE(HE)ME X 100,000
gt eted AL I3 19,000 9,500 9,500
307 2120l & 19,000 9,500 9,500
02 SIZHHAE X 10,000 0 10,000
OMESNMAZZH 2EAY S K& 10,000
04 QIRHHALE X 9,000 9,500 A500
OXNABSHEMLI|IGAHA S K& 9,000
CEIRMNY X 22 X3 1,111,000 950,000 161,000
207 A 2OH | 300,000 0 300,000
01 232 E 9| 300,000 0 300,000
OEg3& HEgE 849 300,000
308 AtXIEHM SOl ™ 391,000 350,000 41,000
01 AXEHBINELZ 391,000 350,000 41,000
OUE ALY (=4t) 80,000
OUEAZLICIHE (24 60,000
OF et A (H ) 140,000
Og Atz or g (0fl &) 111,000
403 A XISHH S 201 A 420,000 600,000 A 180,000
01 AtXI X222 X 420,000 600,000 A 180,000
OUE&MSLZFHI 140,000
OZFAMIESEHEAILAS 180,000
Qg sat=2 Z | 100,000
HY AL (2ZEH M) 81,720 0 81,720
Jl2&d| 81,720 0 81,720
Jl2Z (2 &) 81,720 0 81,720
201 LBer2gH| 36,000 0 36,000
01 At 2teltl 36,000 0 36,000
OBEIM Yo=T 36,000
202 od| 34,920 0 34,920
01 SLHA b 34,920 0 34,920
OEEEH gexx 34,920
203 g2 =&yl 10,800 0 10,800
01 J| 22 R FL| 6,600 0 6,600
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